EARAROBEEIERT — 2 N— IBISH —F

20185F9H 230 (H) AEIBR#7H

IV > % 3% E 1000AT [ETE] &2 ‘[ﬂi} 8 ‘Béiﬂélasﬁ] ~ 5 o) 1900 mE
[A&4] 1 % :10,500,000 2 7 :4,200,000 @ 33 :2,600,000 @ 4 7 :1,600,000H 5 & :1,050,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S # 3 | M. FL-0O 1:23.3 6-5 36.9100.0| 2 498 | FINFE (ER)

1Bl 6| FVv>Yavry 55.0 (-) tg) | BEEAT

R:d—IW K7 2—Ib B:RYdagiE— #HH BB
S ; . 4 3 | HILELF 1:23.4 2-2 37.2099.1 | 1 500 | AIRE (ER)

2l71i3| T¥abhdr—> 55.0 (3/4) 1) | B) Hrr-L—v>y
RN=—5—y T B:RFYTI— J—HrIr—L

> S 4 5 | BEERRA 1:23.7 13-13 [ 36.2] 9.2 | 9 468 | EHFE (ER)

Y 2 K A4 a9vYIo~% 57.0 (1 3/4) (o) | AT
ZonNd BTz h—-F g

. S 4 3 | ERH 1:23.7 7-7 37.2| 96.3 | 10 | 448 |=iIFtL (EX)

417114 TAZ—J—R 55.0 e (-2) i 5
R:d—IWK7J2—-) B:7X2—kE21—FE7 AXAIVT 7 — L
2 N 4 5 | JIEFFHE 1:23.7 5-5 37.5| 96.4 | 3 512 | MRS (FER)

5l1]1|YWNN=FD— 55.0 ) o) | B FoLosiy
L:vn7x BE-RI747 J—HrTr—LA

s — 45 | EIEF 1:23.9 9-9 37.1| 9.4 | 4 504 | HEZEE (RR)

61816 @ﬁjj//—_}ﬁ;( [B] 57.0 (1 1/4) o) NAFZ

RIVINATA—H— B:EH/Fvr—1)—2X EREHFBEZH /77— L4
s 4 3 | FIBEK 1:24.1 7-7 37.7| 92.8 | 6 486 | HH (FER)

] 5| X1 RILFZHIL 55.0 (4 1/a) we) | W) ¥ITLo K5I 5747
ST ZART=TF— BININLHLD iEse]

S s 5 | ANt 1:24.2 1-11 37.0| 91.6 | 15 | 460 |=EES (ER)

81815 X/ —=K)—=L 55.0 (1/2) 0 =HER
R:ZAYrThE—F7—RK—FK B:wuhHYal)Ivb FhI)Tr—L

A B4 | KEEN 1:24.2 10-10  [37.3| 91.7 | 7 482 | BIETF (ER)
9/5|9|/xF-LTUYN 8.0 (7€) (o) | WAHERE
LI INA T A—H— B:7>4—70O% Wi Eim

=i # o7 | RIUE—EB 1:24.3 1-1 37.1]90.7 | 8 496 | EFIE— (%)

10012 F7N3—=72 57.0 (172) © | @ Ge1L-v>y
xR THANAN BiKRUTFAFTAX HET77—L
o N X && 224, - . . INEEfREL (3ETH)

1 4| TIVRTU Y it 5 o) (11214/453 15-15 | 36.8| 88.8 | 16 (4_9;0) it
LxrovH /X% BIXAMY—=bRNNL=K RS

'S 4 5 | REE 1:24.6 13-13 37.1| 87.9 | 12 484 | SEHE— (BR)

1215 |10| R—/¥=F 1+~ [B] 756.0 (7£) () | BHIEEE
R:TLFFE2T1 BANTU—TF412R HET7—L
L S5 t> 6 | RERAS 1:25.3 2-2 39.2| 83.2 | 13 | 468 |=HIAE (R®)

130 11| 7Ly v RIv=2a - 57.0 @ 4y | ARSI
X2 TAANXN B:Tq0 00— J—HrTr—LA

. : > 5 | MIEEHER 1:25.4 15-15 | 37.6| 80.7 | 14 | 464 |3ROERI (3EX)

14y 12| @T—7+7—K - ¥¢56.0 (3/4) () |#EA
RixyULTyk B:avehI BEZ %Y K
= s _ st 5 | R 1:25.7 2-2 39.7 | 80.3 | 11 502 | #AKEE (ER)

15 3 42T 1=l 57.0 (1 3/4) o) 7(73;%
R:F25>48 B:NLrvy—Ib RS
Syx—4Hy R 4 5 | EHB 1:26.4 1-1 40.5| 755 | 5 414 | REERT (ER)

16 71 v¥F—TJv KRR 253.0 (4) () | BHADX
R:F4—TA4>N7 8 B:714Ty K2R =re)

@ 71 L

) 49.1-37.4

NA>Z2A4 L | 12.2-10.9-11.1-11.7-11.9-12.6-12.9

® I —F—@EBIERL

13=3r=

230—7F—

Gol=5r= 7(3,11,13)1,6(5,14)16,9-(2,15) (8,10) (4,12)

43—7F— | 7(3,11,13)(1,6) (5,14)16,9(2,15) (8,10) (4,12)

[ N3

H OB 6 340M 714K 6-13 300M e E 3-7 420M JEHE 6-8-13 6,090/

8 B 6 1609 6-8 2,470 B = 6-13 500 B 6-13-8 20,7004

13 140M 8-13 1,900 | | B B 6-13 1,040M
8 660M

ABICOVWTRDTEEERROODE. TR LIV,




